bF305y . WL
HHERE, HH

e R R B B, S BTARAT R 205% I, PUSTARAT AR bR ¥ 18 2 HEL iRt 100 T LAAT HEIE <95%",
7 SN R S B BR AR 3R R LA o i R, L U 55 L Rt b U0 s U250 A IR i 7E A R 2
LG b5 b o, R e M R S AT AR R, SRR AR T oY T HOUM BRI, 0 I b et A BT 7 e

iltEe0,
Wil 20 S
. RS

BHR104 . BUTHGT 2104, WESdfbik i, SOOI A BRI, AU IT SR BRBUI A LL I r10%:

FHER BB R R LR AT .

g N,
TS 15 VAR 11 AT

ERETE B ITE Lot O ST DO SR SN TR

2 A ™
VA = P e .
g i ‘;" =1 --:...\ s
TN 20234 i T B 408 1 |
i % P ! :
| Y O B AT . SR G
TTREWR FEEEZ T [ el RO 1njﬁﬁ&' A Sz A A 439001 - o AL B RR 4R O L X P FUAR B e At
1 - A oy ,
R | RO scH A VAR Vit & AT T VA (%)
{r Wy - 5509000000 F{iL & 500.000000] P17 2 500.000000]100
Wt P
%‘mﬁ@ﬁ&v’ 500.000000( Ft ef: WA B Bt & 500.000000| 3& - W B & 500.000000
1Al of i o Jt4ib 0
=, Hbpseailist S 1 TN FL bR JLAR S RN I BARCHES(%)
5 5 ) 1 e A i e A2 Sede T R Al 98.00
T A 2 R L E IE W AT RS [RBET BRI E IS R 98.00
e |
FRIIR X IEH AR« {Rb T B R 98.00
U, SEREEERC ) 4R R BT fiabritm Habrar i M R b | b | EE
bR A R M T ST (T O
T it (L) 1t
Peidabe | SR i 6 i R 10 B Sz 5 AR 15.00/2 1 4 19 FEM 15
pideitd 1 S G A4 e 5 o 15.00/2 90 % 100 SR 14
I et T F 5 TR e e R s A S 10.002 20 % 100 eI 9
EERit D VLB AR 0 A IR Ao B 10.00|< 500 JiTe 500/ G Sl 10
Hastaks  |ERasaE (EERL TRk (R K 2o i EL 10.00{2 1000 Ht 1020000 | AR 10|
e A i bn | B K Al R R [ AR A e A TR i 10.00[2 10 4 104 e 10|
EAROSTEbE |Gra MR R | B E A BRI 5.00(z 50 % 100 ok 5|
TR LR b M B TR ) e s D B TR 5001z 10 iE 10%F Jomk 5
S G b R % g N e R ENEERTE S  EEPN 10.00[2 90 % 96 T 10
iR |PSEATE 10 10
[EE 258 98|
Fi. el [E
TR TR B s et ol
Bk A R k& ik 113933611753
W TR S B TR RN B O A AL W5 005, 2ARRTCRLL, WS SE GG BT A L TR LA RN s TR b A
HUE PR U se i Rk e . 3 I RS AT 0 T OB e (5] 4 MR A VS0 L LA P AT S PR R A A A LB 1, Fi o, FiEL R
170, JEERERAS . BRI A B AR, IR, A NIRRT, SR FAEINIE, VAT Mo, ANRRERIT SO, PRI Ao,
ERER AT, MRS TENSE, BT SRR, QRS R 1004, SRR E, —aRbRE RSB bS04 . MR T

CEHRBRRT BT, R AR b
S IR ERRLE 4 b2 FI100%, 6 BISEIAT HEIE" f RGEE A, TSR B PAT I M= AT R ST 2 100%: “RLSL A
PUAT b P 4= ST AR |
YRRTER B2 A, ATEHCHE

10,04 T4 bR SR O B ARG, R0l s e L T IS b (5 %



